4.3

1) 4x+2y=
—4x — 9y = —28
_y_ 28
-7 -7
y=+4
4x+2(4) =0
4x+8=0
-8 -8
x__8
4 4
x=-2

(=2,4)

3) —9x+ 5y =-22
9x — 5y =13
0=-9
false
No Solution @

5) —6x+9y =3
6x — 9y = -9
0=-6
false
No Solution @

7) —1(4x — 6y) = (-10) — 1

4x — 6y = —14
—4x + 6y =10
0=10
false

No Solution @

9) —1(—x—5y) =28(-1)

—x +4y =-17
EA
9 9
y=-5
—x —5(—5) =28
—x + 25 =28
—25 —25
x_3
-1 -1
x=-3
(=3,-5)

11) 2(2x —y) = (5)2
5x + 2y = -28

4x — 2y =10
9x _ —18

9 9
x=-2
2(=2)—-y=5
—4—y=5
+4 44
-y _ 9

1 -1
y=-9

(=2,-9)

13) 10x + 6y = 24
—6(=6x +y) = (4)(—6)

10x + 6y = 24

36x — 6y = —24
46x _ 0
46 46
x=0

10(0) + 6y = 24
6y _ 24
6 6
y=4

(0,4)



15) 3(2x + 4y) = (24)3

4x — 12y =8
6x +12y =72
lox _ 80
10 10
x =38
2(8) +4y =24
16 + 4y = 24
—16 —16
vy _8
4 4
y =2
(8,2)

17) 2(=7x + 4y) = (—4)2
10x — 8y = -8
—14x+8y =8

(_4_") - _16
4 -4
x =4
—-7(4) +4y =—4
—28+4y=-4
+28 + 28

19) 5x + 10y = 20
2(—6x — 5y) = (—3)2
5x 4+ 10y = 20
—12x—10y = —6

(-2)= 1477

x=-=2
5(=2) + 10y =20
—10 + 10y = 20

+10 + 10
loy _ 30
10 10
y=3
(=2,3)

21) 5(=7x — 3y) = 12(5)

—3(—6x — 5y) = 20(-3)

—35x — 15y = 60

18x + 15y = —60
17x _ 0

-17  -17
x=0
—-7(0) =3y =12
3y _ 12
-3 -3
y=—4
(01__4)

23) 7(9x — 2y) = (—18)7

—2(5x = 7y) = (=10)(=2)

63x — 14y = —126
——|!!x + |43{ = Z“

53x —106

53 53
x=-=2
9(—2) -2y =-18
-18 -2y =18
+18 + 18
oy _ 0
-2 -2
y=0
(=2,0)

25) 3(9x + 6y) = (—21)3
2(—10x — 9y) = 28(2)
27x + 18y = —63

x_ 7

77

x=-1
9(-1) + 6y = 21
-9+ 6y=-21
49 +9

6y _ _12

6 6

y=-2
(__1'__2)



27) 3(=7x + 5y) = (—8)3 31) 9y =7—x

5(—3x — 3y) = 12(5) —18y + 4x = 26
—21x+15=-24 9y =7—x
—15x — 15 =60 +x +x
_36x _ 36 209y +x) = (7)2
M —18y + 4x = —26
18y +2x =14
~7(-1) + 5y = -8 e
7+5y=-8 riakrs
—7 -7 x=-2
Sy _ 15 9y =7 —(=2)
° ° w_9
y=-3 9 9
(-1,-3) y=1
(=2,1)
29) 5(—8x — 8y) = (—8)5
4(10x +9y) = (1)4 33) 0 =9x + 5y
—40x — 40y = —40 (7)y ==2x(7)
40x + 36y =4 7y =
y = 2x
—4y _ 236
-4 -4 —7y =7y
y=9 (=90 = (2x = 7y)(=9)
—8x — 8(9) = —8 2(0) = (9x + 5y)2
—8x —72=-8 0=-18x + 63y
+72 +72 0= 18x+ 10y
—8x _ 64 L _7
8 8 73 73
X = 8 0 = y
(8,9 0 =9x + 5(0)
0_ %
9 9
0=x

(0,0)



